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COMMERCE
[HONOURS]
(Financial Management and Capital Market)
Paper : VII
[NEW SYLLABUS]

Full Marks : 100

The figures in the right-hand margin indicate marks.

Time : 4 Hours

Candidates are required to give their answers in

their own words as far as practicable.

GROUP-A
fom-=
1. Answer any four questions: 1x4=4
@I RS &oss Ted wie g
1)  What do you mean by Working Capital?
IRFA e e T @R
i1)  What is Capital Structure?
e o e
iii) What is Operating Leverage?
TR frewe I e
iv) What do you mean by Financial
Management?

s G w@ice F @R
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v)  What is Right Share?
iSRS R 2

vi) What is Marginal Cost of Capital?
YA fes a5 62

Answer any six questions: 2x6=12

@@ W AR Ted wie ¢

i)

vi)

vii)

viii)
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What do you mean by Positive Working
Capital?

GRS FREA JA A0 (@R 2

What is Optimum Capital Structure?

IR E I 2

What is Highly Geared Capital Structure?
T RIFE i S [

What is Financial Leverage?

wifde freme 2

What is Trading on Equity?

73fba Tolm AR e

Mention any two long-term sources of
capital.

@I 7o eI e SeiE AN S
Rl

What is Lease Financing?

Toaifefes widoceq 62

What do you mean by Specific Cost of
Capital?

e [ R <erce R
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ix) What is Working Capital Cycle?
IR T S 2
Answer any four questions: 6x4=24
@~ AT drsi Ted wis ¢
1)  State in brief the factors to be considered

in determining Working Capital of a firm.
WEFH (FH @FT FIGE IRET JEAEE
GRSl e RaReRE bl 59|

i) A trading company's forecast sales and other

particulars are given below:

Forecast annual sales Z1,30,000
Net Profit on cost of sales 25%
Average credit allowed to debtors 8 weeks

Average credit allowed by creditors 6 weeks
Average stock carrying (to meet sales)4 weeks
Determine forecast Working Capital of the

company. Estimated Cash on hand and at
Bank is ¥4000.

(Zae a8 @)

ii1) Discuss the features of Optimum Capital

Structure.

IR A FIOCIE (@AHBTIR SNCETB ¥ |

iv) Discuss the main objectives of Financial
Management.
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wifes TRIPAE 2 Crmel 3@ 31|
v)  Explain in brief about the short-term
sources of capital.
FCFHCo TR JoALH CIPTR Il 91|
vi) X Ltd. has the following Capital Structure
on 31st December, 2018:

)

Equity share capital
(1,00,000 shares of ¥10 each) | 10,00,000

Reserve and Surplus 10,00,000
12% Preference Shares 5,00,000
9% Debentures 15,00,000
Total 40,00,000

The market price of equity share is ¥50. It
1s expected that the company will pay a
dividend of ¥5 per share next year which
will grow at 7% forever. Assume 30%
income tax rate. You are required to
compute Weighted Average Cost of Capital
using market value weights.

(Zae a8 @)

Answer any one question: 10x1=10
@I @36 v Ted wis
1) X Ltd. is considering two alternative plans.

Following information relates to these

plans:
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Plan-A Plan-B

Equity Share (10 each)

Z2,00,000 |Z1,00,000

12% Debenture — 31,00,000
Profit after tax T30,000 | F19,600
Price Earning ratio 11 7.5

Which of the Plans is preferable
considering the Wealth Maximization

objective?

(Zae a8 @)

Critically discuss the Net Operating Income

Approach of Capital Structure Theory.
AL FOE @€ A6 R o weba

ANCTOARETF SCETID FH|

GROUP-B
-4
5. Answer any four questions: Ix4=4
@Il BTG dosie Ted wis ¢
i)  What is Dividend Payout Ratio?
eI Gl SHATe 2
i1) What is Primary Capital Market?
SEGCTE 2 e e
111) Write any one function of CDSL.
CDSL-49 (@ (FIl 4G Fleera Teardl 411
iv)  What is Capital Budgeting?
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Erdfe et Al 6 e

v)  What is Accounting Rate of Return?
ferfefes dfonitra @ 6o
vi) What is Dividend Policy?
Tefic Mt Aife e
6. Answer any six questions: 2x6=12

@@ B;qH A0 Ted WS ¢

)

Vi)

vii)

Mention any two assumptions of M-M
model of Dividend Decision.

eficd amiq P&t M-M SeER @ (@i
vl SRpIEe e 39

Define Securities Market.

AT AT AR 7S |

What is Secondary Capital Market?
SENCE (N e e e

What is Book-Building Method?

F-[fFes ot 62

What is the Open ended scheme of Mutual
Fund?

TNCHRIE TS ¢I-CYE 2455 (2

Mention any two importance of Capital

Budgeting.

@A @ 9 El AEET wwe T 9|
What is Internal Rate of Return?
Srergdl efonit 2% 2

viii) What is Pay Back Period?

23(C)/NS
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ffce Iw aoasER AN fFe
ix) Define Private Placement.
Private Placement-@3 <esl Wi |

7. Answer any four questions: 6x4=24
@Il BIRfS A Ted wie s

1)  Discuss the advantages of Depository

System.
Depository #&fes R« DA F1 |

11) Discuss in brief the importance of

Systematic Investment Plan (SIP).

AEweA dafese (e Jfvsaas owg
ST B9 |

iii) Discuss in brief the advantages of

Depository System.

SCF 7l Depository System-@3 faiasfe
CTo 4|

iv) X Co. Ltd. wants to undertake a project
which requires a plant costing ¥3,00,000.
The effective life of the plant is 5 years
and its scrap value will be 10% after 5
years. The following cash inflows will be
occurred from the project in the next 5
years:
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Years: 1 2 3 4 5

Cash inflows(F): | 60,000 | 90,000 |1,08,000 | 1,20,000 | 1,02,000

If the Cost of Capital is 15%, calculate
the NPV of the Project.

Given : The Present Value factors @ 15%

Year : 1 2 3 4 5

PVF at 15% :| 08696 [ 0.7561 | 0.6575 0.5718 | 04972

(Zae a8 @)

v) A company has a book value per share of
7137.80. Its return on equity is 15% and
it follows a policy of retaining 60% of its
earnings. If the opportunity cost of capital
is 18%, what is the price of the share today
as per Walter's Model?

(A& & (r9)
vi) Discuss the importance of Capital Market.
JEILe AGEE $Fg AT FF |
8. Answer any one question: 10x1=10
- @F5 2o Teq uie s

i)  Critically explain the Gordon's Model on
Dividend Policy.

SEER TR S ST FANEAGNLTF Iefell 4 |
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ii)

iif)
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Discuss the Credit Rating Process of

Financial Instruments.
wifes wfocan @ e @b afem 3@ w41

A company is considering an investment
proposal to install a new machine at a cost
of ¥50,000. The facility has a life
expectancy of 5 years with 5,000 salvage
value. For the project additional working
capital of F10,000 will also be required.
The applicable income tax rate is 30%.
Estimated earnings before charging
depreciation and income tax from the
proposal are : 20,000, 322,000, 19,000,
217,000 and 324,000 respectively for 5
years. Compute the Accounting Rate of

Return for the proposal.
(A& e )
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